[#75%] RCEHE 0110047122 H1, 500

[#3%] 7A3P9BE H1, 600

[#73%] RCFY4R H1, 800
[#73%] B#iR

[#3%] 1EL#ECB 150 3Ex~4B%+71v2 H1, 200

[#%] BRELIVA H2, 200

[475%) 1L4ECB £150 3E&+71v2 H1, 200

VKBI+550K 1 A N ———— KBM: S50t
L B eI I ——— ————— DU S S ESSESEEEESSCE! S e e e e e e e e e (M R e e e S S SR
13,671 27,146 10,593 17,107 4,546 23,937
6,000
3 FROT T
o &
= &
3
m
i \nﬁ
1 W
PEY
# o
oS
777777777 @ 2,800 9=
. —_ 0.45
""" I OFTERISVvIRERE \ o a o a ™ ATTTTA @ @
| R
S | I:: 0.65 @
g . I iU i
ﬁ%%ﬁ B%ﬂgéﬁs E&ﬁ*§1’92781m 11 -‘-i--— = 0 0 0 e e 0 T
i ILR—42— 2K a
<
20y ?E\
Ziw .
E B B G
o
5
b 2,800 9=
g
e
]
&
5  — 1
E Nioa5) 0.68 0.70 0.73
N
- LR R N A AR R R
o | e
ST O ' :
J 1 O |fo! S
Bt 30.804 (b5 %Z} <
! o .
1 S
3 e S
i 0.69
| EREI T I 1
EECELY) | : : e |1
] i 0.66 ﬁ*ﬁ'ﬁ:/gu_l“lﬁ =)
> ! EREE  989.66m
* ! . B
= ]
:\ s . >
! - ILAR—4— 1E it || |2
‘ !
|
e S — S —— S — N Y
|
& H0LD & 8o & 8
0% —Q- * © ) _ 1% 6 K 0.95 K3
—_— === = = = = —
49. 663 — o WKAT-1 22. 954220954 .
=P|a \ '\7 U‘K \ oo @ /H(\\u.nnﬁ/ 0.6
=M -Fzsr0-m
1274 212-3 AEanETEs
BHFEBEHRH
= G BN
iy
(EdMEIC&3) ° ) stmes

HTER NSV IRARENDEEMIIBEXBEIRBORER

R —RAEREATFERIFS Y IBR




